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• 

throughput =
datapacketreceive

observationperio

• 

Packetlos =
(datapacketssent − datapacketsreceived)

totalpacketsen
× 100%
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• 

verage delay =
total delay

total packets received

• 

verage Jitter  =
total delay variatio

total received packets − 1
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Throughput  =  
number of data packets sent

capture time frame 
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Packet Loss  =  
Uncaptured packet(s)

Total packets
× 100%
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packet loss =  
(143 − 142)

143
100%

=
1

143
100%

= 0,7% 
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o 

Delay =  
Capture time frame

Total packets received
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